Pract¢e Middrerm Solurons

2 True/False

1. L’Hospital’s Rule can be used to solve for the limit of any sequence

{an}.
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2. Any infinite series of all positive terms will diverge.
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4. The limit of an infinite sequence {a,} = f(n) is the same as the limit
of the generating function f(z) as x approaches infinity.
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XWe can solve analytically (write down a formula/answer for) any in-
tegral of the form [ tan™(z)sec"(z)dz where m,n are both any real
numbers.



3 Free Response

Evaluate the following integrals:
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Evaluate the Following Limits:

X

4. lim -ASmtd i
EFSECT - m

XY

X
f S\ ({’) at
1

X -\

(
j sin(h db

- e -
@)

i-\

First Fu
A /
J svn (F) A’:X i S ()
T Aa\¥ \



5. limz*
-0

. A O
lim x = 0 1 A beroninale foren

A2 0O

LN

I N SR VR B Q

[y XIn(x) = O e (0) - 0. -0 ndiheaminete

x-20 form
I \(\(X\ 2 SN L’ \_\8\)':\_&\ g vole
- = - O)
A= 0 \/%

\

4 —_—
l/ e . — l\ON\ — *
Q b X [\n\x{X T * b /’X = K0

_ — " TA»o° %
K->©° - *’70 — \
d \ —
AR Y ’X K _ O

= .\‘”\ \n (.)(*\ -

K-=0

. X %
”“’“xfeﬁm

X-0



6. lim a, where {a;} =1,
oc

hm

n-> @



7. Find the limit of the corresponding series, > 7 a;

00 (60 fo®) \
rermrm——
Z‘ Ay = ZC\“—: 2 , an-l|
=4 n-=\ n=1i
This look Sl bo o hormenic Seres 5o fet

' h S
us  wse  the i',mjm\ Fesk o shew it 3V e e

2
= 3n’rejr=-\ besy d‘wujz.s = Qenes ‘AN uDLSE



L= r

I b_'_-ll

|



